
5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

Output Capacitor Requirements
 o Total Capacitance of >800uF
 o Combined ESR of <5 milliohms
 o Examples:
    - 3,  270uF, 15 mOhm
    - 5,  220uF, 25 mOhm
    - 6,  220uF, 30 mOhm

Install 0 ohm resistor (or jumper) 
to defeat DSX function.

Values given are for:
DSX = 0.9V
Start Voltage = 1.05V

Connect to ALI1535 Pin C10
or equivilent signal

Salient Features
- No external pull-ups required on VRDAs.
- No external droop resistor required for Voltage Positioning.
- Startup voltage set with a single resistor.
- DSX voltage set with a single resistor.
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